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—HIRtE
MEFRE  EE BEH A4 Hhish 5 45 ﬁ THE | R (pe-TEY/nd) % =
| (pe-TEQ/m®) | B/ BA
TEE  |fikm ) —fBEE | 2 0.010] 0.0060[~ | 0.014
dtiEE LR RKENKBETSH —HRIRLE 2 0.043| 0.0044|~ 0. 081
tiEE FLIRET Kkt 42— —HRIREE 2 0.0085| 0.0050(~ 0.012
dtiEE g™ FENERBIE D —HRIRLE 2 0.018 0.011|~ 0.024
tmE  |EEw BETERATR —femE | 2 0.019| 0.0003|~ | 0.028
dtiEE g™ THEVREEYRERNS 5 —HRIRLE 2 0.010] 0.0087|~ 0.012
tmE  |EEw BEERFER —femE | 2 0.0083| 0.0079|~ | o0.0087
dtiEE Mg IMET - BT X —HRIRLE 3 0.010] 0.0094|~ 0.011
mE e AR —feEE | 4 0.032| 0.0059|~ | 0.067
dtiEE ikl =it - Bl TKRY T8 —HRIRLE 3 0.0096| 0.0071(~ 0.013
dbiEE S g™ - FRAER —HRIREE 3 0.014| 0.0075|~ 0.022
dtiEE i GG TR S L /N —HRIRLE 3 0.26] 0.0083|~ 0.76
e |dtRE# LR - ERTER —femE | 3 0.028| 0.010|~ | 0.037
dtiEE TRH TR - CEX —HRIRLE 2 0.012| 0.0051|~ 0.019
tmE  [tRm LR - BEInE —femE | 2 0.0083| 0.0055|~ | 0.011
dtiEE ERRT ERR™ - BHMXT —HRIRLE 3 0.024 0.012|~ 0.043
mE [E0EE EINEH - BHAER —feEE | 4 0.012| 0.0090|~ | 0.015
dtiEE pazl) IR - RE#X —HRIRLE 3 0.039] 0.0082|~ 0.067
dbiEE Fkm Tt - ERAER —HRIREE 3 0.013 0.011|~ 0.015
dtiEE Fmm Fmh - RE#RX —HRIRLE 1 0.0086| 0.0086(~ 0. 0086
tmE B BRI - IRA PR —femE | 2 0.0096 0.0081|~ | 0.011
dtiEE PeEsiiil A¥rm - )AL X —HRIRLE 2 0.025| 0.0094|~ 0. 040
EHRE |B&W BRI —fREE | 4 0.012| 0.0049|~ | 0.016
BHER CIN:IG ] AR — PR —HRIRLE 4 0.028| 0.0064|~ 0.075
THE J\F J\RHIL/\F/INER —HRIREE 4 0.019 0.012|~ 0.023
BHER AERIIES RARIERMIAMIIIEE=hER —HRIRLE 4 0.049 0.012|~ 0.12
THE +iAT BRI =ZAKRDER —HRIRE 4 0.014| 0.0070|~ 0.024
BHER &om TOERITE —HRIRLE 4 0.0064| 0.0033(~ 0.0083
EFE  |mEW EEmEEER —feEE | 4 0.022| 0.0095|]~ | 0.034
EFE | KMiER AWEREENR —mE | 4 0.015| 0.0094|~ | 0.023
EFR Lt I EHFERTR —HRIREE 4 0.018| 0.0052|~ 0.031
EFR —_Fm ZFHmEER —fRIRtE 4 0.0059| 0.0026(~ 0.013
B BEAER —feEE | 4 0.016| 0.0096|~ | 0.026
BHE [T FUmRE 42— —HRIRLE 4 0.011] 0.0067|~ 0.016
EHE  |lLeH EHRREHR —feEE | 4 0.018| 0.0094|~ | 0.026
=HE e WEmirEeE —mE | 4 0.013| 0.0083|~ | 0.018
EHE  |lLeH KRR —feEE | 4 0.018 o0.011|~ | 0.033
BT RESRFE —fgmis | 2 0.019| 0.0083|~ | 0.030
ECCEEE O BEE-RBEASIER —femE | 2 0.044| 0.013|~ | 0.075
B NELG ERE—RBEASAIER —fgmis | 2 0.019| 0.012|~ | 0.026
R N T I —RIREXKAED —HRIREE 2 0.038 0.022|~ 0.054
EHE LERABKHAEAT | KARERTS —HRIRLE 2 0.019 0.012|~ 0.025
R EHEEESE EREE —fRIRIE 4 0.013 0.011|~ 0.015| FR0EEBELAE
AR AT BEHS —iRIRLE 4 0.012] 0.0099|~ 0.014
HEE  [#Fm BEBEHEARATREFRE —fREE | 4 0.036| 0.015|~ | 0.090
MEE  |AE® MAE—WEBEIERAERE —fREE | 4 0.016| 0.013|~ | 0.019
MHE BEAT BATILEHIL /R —HRIREE 4 0.022 0.013|~ 0.038
MAE  |mAARER BRI AT R/ N —fREE | 4 0.021] 0.012|~ | 0.035
HMEE Xl LR R BB E T2 —feEE | 4 0.052| 0.012|~ 0.12
LR 8 i WAL &R REE —HRIREE 2 0. 031 0.025|~ 0.037
iz 8 BT BEMRET—IL —HRIREE 2 0.016 0.014|~ 0.018
LR 8 BET EREER —iRIRLE 4 0.011] 0.0081|~ 0.015
Wwike  |[Ewm FlmREE L — —fREE | 4 0.020| 0.0088|~ | 0.046
Wke  |Exm ERMIEFHNER —fREE | 2 0.033] 0.011|~ | 0.055
BEER EBE™ BEMEXy LEHS —HRIREE 4 0.018 0.010|~ 0.027
=EE  |EEm BER —fREE | 4 0.026| 0.018|~ | 0.031|FmosEmEEanE
BEEE  |2EEmWm BERTESETR —fREE | 4 0.023| 0.0089|~ | 0.037
EEE  |EBUW BRI R —fpmE | 4 0.018| 0.0095|~ | 0.025
BEER WhEM BB —HRIREE 4 0.015| 0.0088|~ 0.026
EER WhEm KRR —HRIRLE 4 0.015] 0.0093|~ 0.024
BEER B BRI TR 3L SR 56 /e —HRIREE 4 0.018| 0.0098|~ 0.030
EER MHEET EAHEMFERERL 2 — —iRIRE 4 0. 031 0.011|~ 0.056
BEER KEBEREN |BERMASERBEUEHAR —HRIREE 4 0.0069| 0.0055(~ 0.0092
TR b Sakiil KERIB —iRIREE 4 0.028 0.018|~ 0.039
R E Hirm HIZER —HRIREE 4 0.025| 0.0078|~ 0. 051
TR L THERBEFRD —iRIREE 4 0.052 0.036|~ 0.070
ZWE  |[EAm EAREFB —feEE | 4 0.073|  0.045|~ 0.12
TR AREH BRERLER —iRIREE 4 0.055 0.028|~ 0.075
ZWE s lam B IERETR —feEE | 4 0.041| 0.015|~ | 0.074
TR R H R HREE —iRIRLE 4 0.013] 0.0076|~ 0.019
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テキストボックス
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—HIRtE
MEFRE  EE BEH A4 Hhish 5 45 ﬁ FHE | RERE (pe-TEY/m) w =
| (pe-TEQ/m®) | B/ BA
ZWE  |mEm e —fEEE | 4 0.047] 0.027]~ | 0.079
RIFE 2L [EH HKIEEEHR —HRIRLEE 4 0.039 0.022|~ 0.070
IR [0 =%=% 9 \i7) HERWFEED —HRIREE 4 0.024 0.014|~ 0.028
PR |ElEd EEETH —fmE | 4 0.024| 0.015|~ | 0.032
ZWE  |mEm ATREFTD —feEE | 4 0.10] 0.021|~ 0.20
AR |FEmEm FINER —fREE | 4 0.035| 0.020|~ | 0.058
HAE |FEmEm WA INER —feEE | 4 0.026| 0.012|~ | 0.047
FAE  |FEmEm SRR —fREE | 4 0.040| 0.021|~ | 0.088
HAE |FEmEm EERER —feEE | 4 0.037| 0.028|~ | 0.049
FAE  |FEmEm BWLTINERR —fREE | 4 0.032| 0.016|~ | 0.046
HARE FHEM RNEINER —fRIRIE 4 0.038 0.021|~ 0. 084 | FR20EEBELAE
AR KM THERLREEHEN —fmE | 4 0.066| 0.032|~ 0.13
HAE  [EHm EBHEFAFS —feEE | 4 0.047|  0.026|~ | 0.062
HAE  |Bxm BATRFATE —fREE | 4 0.024| 0.013|~ | 0.040
HAE  |BAESRT BEERTERERE 2 — —fREE | 4 0.022| 0.015|~ | 0.036
HAE  |BAESLT AREFEE R —fREE | 4 0.036| 0.015|~ | 0.078
AR |ZEBETE  |SFERS —feEE | 4 0.054| 0.017|~ | 0.089
HEE  [gEm BiEER —fmE | 4 0.041] 0.025|~ | 0.060
HEE |sb&mW FRARE —femE | 2 0.075| 0.074|~ | 0.075
EEE =& BEXA —fgmis | 2 0.059| 0.053|]~ | 0.064
HEE |sb&m HEXH —femE | 2 0.079| 0.063|~ | 0.095
EEE |FDEm FREHILR/NER —fREE | 2 0.056| 0.044|~ | 0.068
HER AHEM ANEM&FR —fRIRIE 2 0.090 0.040|~ 0.14
HER KA EBREXmm —iRIREE 2 0. 061 0.041|~ 0.081
HER AHEM HHEBEX —fRIRIE 2 0.093 0.045|~ 0.14
HEE |XE® BIEARTAE X —fgEE | 2 0.086| 0.032|~ 0.14
HER AHEM ANHEMIL P RNER —HRIREE 2 0.066 0.039|~ 0.092
EEE |EHm FRARLE —fgEE | 1 0.071| o0.071|~ | o0.071
HER fEH T ZRRAREE —HRIREE 1 0.052 0.052|~ 0.052
EEE |EHm SHANRE —fgEE | 1 0.065| 0.065|~ | 0.065
HEE |EHm REAEE —femE | 1 0.065| 0.065|~ | 0.065
HER BT EMTRE 2 — —iRIRE 2 0.070 0. 055|~ 0.085
HEE |EEW R T 7 —femE | 2 0.041] 0.039|~ | 0.043
EEE |=Em SRS ENER —fREE | 2 0.026] 0.023|~ | 0.028
HER {ER B EATRT HrEtwo 2 — —HRIREE 1 0.076 0.076|~ 0.076
HEE [ERBEAE | LEBAESR —fgEE | 1 0.095| 0.095|~ | 0.095
HER 1R R EATET RHEARSE —HRIREE 1 0.083 0.083|~ 0.083
RES |2%IOIMET  |BAETTRAME/NER —fREE | 2 0.065 0.043|~ | 0.086
HER B AR RET RRETILR/PNER —HRIREE 4 0.032 0.020|~ 0.047
REE |BEMARE | KRETIA/NER —fREE | 4 0.030| 0.019|~ | 0.043
BER SWV-FETH SWEFEHRAAER (SWW=FhH&R |—RIRE 4 0. 053 0.025|~ 0. 095
BER SLV=FETH BEEN-ZV) 14— —iRIRE 4 0.056 0.033|~ 0.090
BER SWV-FETH TKEEMES —HRIREE 4 0.046 0.039|~ 0.054
BER LV FETH - R —iRIRE 4 0.059 0.034|~ 0.11
BER SWV-FETH ReERX&F —HRIREE 4 0.049 0.037|~ 0.063
BEE  |[s0f-Fh BRFEASE —fgEE | 3 0.064| 0.047|~ | 0.079
BER SWV-FETH BiEI = —HRIREE 4 0.058 0.026|~ 0.099
BER SV ER A& —HRIREE 4 0. 065 0.037|~ 0.12
BER SWV-FETH HERIE B (R P ERN) —HRIREE 4 0.093 0.064|~ 0.15
BER JIl#EH JI#EGRIE B —iRIRLE 4 0.063 0.035|~ 0.098
BER JIl#ETH NIt —fRIREE 4 0. 069 0.037|~ 0.084
BER o THER —iRIRLE 4 0. 061 0.031|~ 0.10
BER B BB —HRIREE 4 0.015| 0.0098|~ 0.024
BER FriR™ ITREERER —HRIREE 4 0. 040 0.025|~ 0. 061
BER iR HATRAIER —HRIREE 4 0. 057 0.034|~ 0.076
BEE  |FR® =y BARE —fREE | 4 0.038| 0.024|~ | 0.058
BER iR LH —BRFAEH —fRIREE 4 0.033 0.018|~ 0. 043 | FR0EEBELAE
BER InZE AR —HRIRLE 4 0.065 0.033|~ 0.14
BER AEM AKERER —HRIREE 4 0.018 0.010|~ 0.034
BER NI EXNING) —HRIRLE 4 0.038 0.020|~ 0.060
BER BEmH BER —HRIREE 4 0.12 0.028|~ 0.36
BER il E3AG] —HRIRLE 4 0.037 0.027|~ 0.043
BER Bam AR —HRIREE 4 0.064 0.039|~ 0.12
BER FET HER —HRIRLE 4 0.053 0.024|~ 0.087
BER AEM AER —HRIREE 4 0.079 0.049|~ 0.14
BER J\#iTh J\ER —HRIRLE 4 0. 057 0.014|~ 0.096
BER BELXRm ELTRB —HRIREE 4 0.064 0.031|~ 0.094
BER BEmM BER —HRIRLE 4 0.033 0.019|~ 0.063
BER e ER/IN) I BT INIB —HRIREE 4 0.023 0.018|~ 0.033
TEE  |TEm FTESHB —fgmis | 2 0.056]  0.027]~ | 0.085
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—HIRtE
MEFRE  EE BEH A4 Hhish 5 45 ﬁ FHE | RERE (pe-TEY/m) w =
| (pe-TEQ/m®) | B/ BA
FER FEM FEMEHSULHAEE 2 — —HRIREE 2 0.064 0.061|~ 0.066
FER |TESD FETHER —fgmis | 2 0.043]  0.020|~ | 0.065
FER FEM FELER —HRIREE 2 0.059 0.028|~ 0.090
FER FEM FEERIB —HRIRLEE 2 0.056 0.030|~ 0.082
FER FEM FEEWH —fRIRIE 2 0. 046 0.022|~ 0. 069
FER |TESD FETEER —fgmis | 2 0.058| 0.026|~ | 0.089
FER FEM FEHKER —HRIREE 2 0.034 0.019|~ 0.048
FER FEM FETFERtEVS— —iRIRE 2 0.042 0.036|~ 0.048
FEE |TEM FEMETEKLES —fREE | 2 0.041| 0.023|~ | 0.058
FER FEM L NP NS H ) 5] —iRIRE 4 0.038 0.022|~ 0. 064 | FR20EERBEAE
FEE  |#Fm RFEFR —femE | 2 0.028| 0.024|~ | 0.032
FER uitllGi) HIIKER —iRIREE 4 0.091 0.030|~ 0.20
FER Ml HIFEB —fRIRIE 4 0. 050 0.025|~ 0. 091
FEE |Wmllm wlIESR —fREE | 4 0.068| 0.050|~ 0.10
FEE |mEm WESREE —feEE | 4 0.045| 0.024|~ | 0.068
FER g™ WEEER —iRIREE 4 0.048 0.023|~ 0.083
FEE |mEm NERAETD —feEE | 4 0.063| 0.029|~ 0.1
FERE |BUm BT ER —fgmis | 2 0.057| 0.013|~ 0.10
FEE |wFm BAED —feEE | 4 0.075| 0039~ 0.12
FER WFEM RAERER —iRIREE 4 0. 056 0.033|~ 0.095
FEE |wFm —UARHER —feEE | 4 0.052| 0.025|~ | 0.003
FER FHEM HHMEHFBRRB —iRIREE 2 0.059 0.038|~ 0.079
FEE |BEW EREMB —femE | 2 0.033 0.018|~ | 0.048
FER 54l REMEEE —iRIREE 2 0.045 0.022|~ 0.068
FEE |#m KEAER —feEE | 4 0.053| 0024~ 0.10
FER |#m KEEATR —fmE | 4 0.047|  0.023|~ | 0.004
FEE |#m BTN —feEE | 4 0.071]  0.029|~ 0.16
FER am Byasnbliera— —iRIREE 4 0.064 0.032|~ 0.13
FER bizhis) Ky BE—INER —HRIREE 4 0.064 0.019|~ 0.16
FTEE (A BEINAER —fgmis | 2 0.013| 0.0078|~ | 0.019
FER el HR/\EE —HRIREE 4 0.059 0.020|~ 0.097
FER [mEM HREIER —fmE | 4 0.038] 0.019]~ | 0.074
FER el TRHERER —HRIREE 4 0.050 0.024|~ 0.087
FER mEM HRRIER —iRIREE 4 0.035 0.018|~ 0.053
FEE |[mEW HREHR —feEE | 4 0.020| 0.010|~ | 0.057
FER BeJIITH BIEER —iRIREE 2 0.012] 0.0071|~ 0.016
FEE |Ezm BEARB —femE | 2 0.035| 0.019|~ | 0.051
FER miEEm mEERER —iRIRE 2 0.048 0.022|~ 0.074
FER ENFE™ HMEsEtR —HRIREE 2 0. 056 0.027|~ 0.085
FERE |EWm ERAER —fgmis | 2 0.037 0.023|~ | 0.050
FEE |LREBESRE [BIREZR —femE | 2 0.047|  0.025|~ | 0.068
HRAR BX BREER —iRIRLE 6 0.039 0.025|~ 0. 057
AR HEX EFRER —fRIRIE 4 0.032 0.024|~ 0.041| FROEEBELAE
ER#  |BER BEREXAR —fgmiE | 6 0.035| 0.021|~ | 0.056
AR KHERX KERE#HED —fRIREE 6 0. 041 0.028|~ 0.057
HRAR HEASXX HAAXEARE —HRIREE 6 0.042 0.023|~ 0.074
HRE  |PBE THREER —femE | 6 0.050| 0.031|~ | 0.087
HRAR FIX FINXETER —HRIREE 6 0.052 0.030|~ 0.078
AR WIEX WBXKIIIE —HRIREE 6 0.052 0.030|~ 0.083
HRAR BEX BEXBE#HAER —HRIREE 6 0. 042 0.020|~ 0.072
AR RIIX RIRBHHARD —HRIREE 6 0.054 0.029|~ 0.085
ERA  |BHEX BNRAE —fREE | 6 0.051| 0.025|~ | 0.091
AR IRINIIRX IFRNREIRD —HRIREE 6 0.049 0.025|~ 0.079
HRAR INEFTH NEFHEER —HRIREE 6 0.026 0.015|~ 0.032
AR odlls) I)ITERETH —HRIREE 6 0.035 0.025|~ 0.048
ERA  |REED RBHHENR —fgmEiE | 6 0.042| 0.023|~ | 0.070
AR ETHE BTHTEE s DEB —fRIREE 6 0. 026 0.015|~ 0.039
HRAR INEFHTH INEFHTAREE —iRIRE 6 0. 041 0.022|~ 0.060
AR B/EH BEMAER —HRIREE 6 0.027 0.020|~ 0.035
HERA  |mAf® EANMZERER —fgmEiE | 6 0.027| 0.018|~ | 0.040
HRE | AEW BT TS —femE | 6 0.063| 0.035|~ | 0.089
R |BEERERN [GSERERR —fgmEiE | 6 0.012| 0.0070|~ | 0.020
#HE)NE |[HEEH HE)IRBETER —HRIREE 4 0.038 0.025|~ 0. 051
=8 [#ED B e s —fmE | 4 0.034| 0.021|~ | 0.045
#HE)NE |[HEEH RisaREEERB —HRIREE 4 0.035 0.022|~ 0.046
=8 [#ED BIRBEFER —fmE | 4 0.033] 0.021|~ | 0.046
=8 [#ER SREEER —feEE | 4 0.026| 0.016|~ | 0.038
=8 [#ED BERBETERD —fmE | 4 0.027| 0.016|~ | 0.036
#HE)NE |[HEEH BRE=R/NERE —HRIREE 4 0.028 0.017|~ 0.035
=8 |#ED RRBEFER —gms | 4 0.034] 0.022|~ | 0.043

Tl eREMRAORERR.

,24,




FROFELAFF L VERERERR (KR

—gIRiE
HERFRA FRTEL BT =2 i 5 ﬁ FE | EEEE (pg-TEQ/m’) i =
8| (pe-TEQ/m) | B/ BX
HEIR [#Eh MBARKRETER —HRIREE 4 0.034| 0.024|~ 0.044
#/E)E  |)IEH PRREMERELEV 2 -/ —RIRE 4 0.038] 0.024[~ 0. 054
ME)E | £ HEKE — RIS 4 0.032| 0.020[~ 0. 040
#wE)E |BAEET TREEESE —RIRE 4 0.029] 0.014[~ 0.043
BENE |[BEEH BIREVS—R — RIS 4 0.023| 0.0098[~ 0.034
#HENR [FFET TIET&R —RRIRER 4 0.034| 0.020[~ 0. 054
BENE |FEH FiFHEAFHER — RIS 4 0.026] 0.019[~ 0.033
#HENR [FFET FIREHEH/NER —RRIRER 4 0.028] 0.020~ 0.035
BENE |FEH FIFH LS /NER — RIS 4 0.031| 0.023[~ 0. 037
#wE)E |#Eh AT —RIRE 4 0.030[ 0.018[~ 0. 041
#HENIIR [ERT BRI R /NP —HRIREE 4 0.055| 0.029|~ 0.10
#wE)E |EERT R AT —RIRE 4 0.025| 0.016[~ 0.042
#HEIE [PhEET /NIRRT —HRIREE 4 0.026/ 0.011|~ 0.039
#HRNE |[Fyiah EXd ik —RRIRER 4 0.030| 0.016|~ 0. 041
BENE |HEEET HERERHMERATIER — RIS 4 0.033| 0.024[~ 0.038
wE)E  |HEERT HELSAIER —RIRE 4 0.033| 0.025(~ 0. 043
BENE |HEEET BRAER — RIS 4 0.031| 0.024[~ 0. 040
wE)E  |HEERT A4AER —RIRE 4 0.034| 0.027[~ 0. 040
BENE |HEEET EAFREERR — RIS 4 0.023| 0.018[~ 0.030
#/E)E | =FEhH =HHERR —RIRE 4 0.019[ 0.0092(~ 0. 031
#HEIR (EHH ELn —HRIREE 4 0.021 0.013|~ 0.028
#HRNR |[EXH EXRMER —RRIRER 4 0.054| 0.030[~ 0.10
#HENIIR [XKFah KRR —HRIREE 4 0.030| 0.025|~ 0.036
#wE)E |[FEET FERHERN —fRIRE 4 0.023| 0.016[~ 0. 031
BE)IE  |EERH BERA T % AT — RIS 4 0.033| 0.023[~ 0.039
#R)R |[FERMAT BEREAMYALESSE —RRIRER 4 0.012| 0.0093|~ 0.016
BENE  |EEhH BT — RIS 4 0.039| 0.034[~ 0.043
BE)E |SEBEIE (ENERS —fRIRE 4 0.034| 0.022[~ 0. 047
HEIE ([BWLEBRHE (KAETFRARE —RRREE 4 0.017] 0.011|~ 0.022
#HE)NE | RA TS AR |5 R RS —HRIBE 4 0.013] 0.011|~ 0.016
AENE (ERRENIET  (B)IETERES —HRIREE 4 0.030| 0.018|~ 0.043
HRE et WE—RBREXSAIER —RIRE 4 0.030[ 0.022[~ 0.043
HaR it RAH - RBRBERSAER —HRIREE 4 0.042| 0.021|~ 0. 091
bl Fimm E—RBREAKAER —RRIRER 4 0. 031 0.024|~ 0.038
HaR RREH ERIZXERAER —RRRIE 4 0.040| 0.030|~ 0. 065
HRE AT HERBAEH —RIRE 4 0.018] 0.017[~ 0. 021
wER 1EE™ R ERBRERLRASES LS — (B miRem | —ARIREE 4 0.0075| 0.0063|~ | 0.0086|Fm20EEBEERE
EILR Elh CTER-BRRBEXKIER —RRIRER 4 0.011] 0.0077|~ 0.013
EWLE B BHRE-RBRBEXSAER —HRIREE 4 0.018] 0.011|~ 0.035
AT = KBE—BRBREXSAIER —RIRE 4 0.026] 0.012[~ 0. 061
EWLE B AR -RBREXSAER —HRIREE 4 0.014] 0.011|~ 0.018
EILR = e EREANF —RRIRER 4 0.022| 0.011|~ 0.033
EWLE =G BEFER —HRIREE 4 0.024] 0.014|~ 0.033
EILR = e ERRKE —RRIRER 4 0.033] 0.014|~ 0.075
EWLE KEH KEB — RIS 2 0.018| 0.015(~ 0. 020
AT 2kt EIERF —fRIRE 2 0.017[ 0.012[~ 0. 021
EWLE i [ia25] —HRIREE 2 0.026/ 0.018|~ 0.033
AT 5k HEBEILIR —RIRE 4 0.020[ 0.014[~ 0.025
=R stk IR SEIG) —RIRtE 2 0.015| 0.013[~ 0.017
AT sk IMNGEER —fRIRE 4 0.025| 0.019[~ 0.028
EwLE T ZEAEET [SAEMIRAEEARE —fRIRtE 4 0.015| 0.0086[~ 0.034
AR &R BEESAER —RIRE 2 0.015| 0.012[~ 0.017
AR ®iRm INIHFAER —RIRtE 2 0.0095| 0.0089|~ 0.010
AR &R RARERSIER —hRIBE 4 0.014| 0.011[~ 0.018| 20 EBELAE
AR tEH tEAER — RIS 2 0.023| 0.010[~ 0.035
BIE INBTH INARITE D —RIRE 2 0.023| 0.015(~ 0. 031
AR BN HNTREEtE 2 — —RIRtE 2 0.0074| 0.0062|]~ | 0.0086
allE FEH FVERER Arthigit > 42 —) —RIRE 2 0.010[ 0.0099(~ 0.010
AR =[G WERER — RIS 2 0.010 0.0089[~ 0.012
AR SALEREIEET  [EERER —fRIRE 2 0.018| 0.015(~ 0. 020
=HE BFh REBLERERIER BHB —HRIREE 4 0.052| 0.024|~ 0.085
BHE BEM A[ERERERIERS MAHS —RRIRER 4 0.026/ 0.011|~ 0.036
=HE KEFH REBLERERIER XHB —HRIREE 4 0.027| 0.016|~ 0.037
BHE #ETH AEBFLERERAIER RER —fRIRE 4 0.025| 0.019[~ 0.035
[T B i BENEHRR —RIRtE 4 0.019] 0.016[~ 0. 021
ITETY ELXEET ELETHARNFS —fRIRE 4 0.010[ 0.0068[~ 0.015
RHFR E&HM HETRIER —HRIREE 4 0.020] 0.014|~ 0.033
RHER K&Hm BEA/NERR —RRIRER 4 0.030] 0.017|~ 0. 041
RHFR E&HM R EFHLE —HRIREE 4 0.022| 0.014|~ 0. 030| R0 EEBBEHRE
EHE WAH WEERFER —RIRE 4 0.022] 0.012|~ 0.034
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HERFRA FRTEL BT =2 i 5 ﬁ FE | EEEE (pg-TEQ/m’) & &
8| (pe-TEQ/m) | B/ BX
RHFR i WAERTER —HRIREE 4 0.018] 0.011|~ 0.025
RHER FBH FEMWERTER —RRIRER 4 0.014] 0.010{~ 0.020
RHFR h ¥ THXAE —HRIREE 4 0.019] 0.011|~ 0.026
g B2 12 I BB T hRBIER —RIRE 4 0.032] 0.019|~ 0. 056
Ik B 12 I B 7 AL &8 BIE B —HRIREE 4 0.023| 0.016|~ 0.035
I B2 KiEH KiEM BXIEFEEERER —RRIRER 2 0. 021 0.020|~ 0.021
Ik B 12 = it EEEEE —HRIREE 2 0.018] 0.013|~ 0.023
g B2 12 gl i)t SuE)ITHERT —HRIBE 2 0.012] 0.011[~ 0.013
g 5158 EEmEH ERMET ERMEHER —fRIRtE 2 0.017| 0.015(~ 0.018
I B2 il 535 7} Tigh TIEHERASTE —RRIRER 2 0.019] 0.018|~ 0.020
g 5158 HiEm miEm mRETRFERTS — RIS 2 0.024| 0.023|~ 0.024
BER AT BEmERBRATS —RIRE 4 0.018/ 0.015|~ 0. 020
BER BE™ R/ NERBIER —HRIREE 3 0.015| 0.011|~ 0.020
BER AT EHETERAIER —HRIBE 4 0.014| 0.012[~ 0.018
BER AT EK=ZRE—NERAER — RIS 4 0.018] 0.013[~ 0.022
BER AT FEKENPERAER —HRIBE 4 0.023| 0.017[~ 0.026
BER BE™ ERXZATEIER —HRIREE 4 0.021 0.018|~ 0.023
Edial) ET EMTIELS RN —RRIRER 2 0.026] 0.012|~ 0. 040
BER EMTH EMT IR BIBEMRR — RIS 2 0.021] 0.012[~ 0.029
BER SR SEM T I ER PR —RIRE 2 0.031] 0.012|~ 0. 049
BER EMTH SEARTILAL /N — RIS 2 0.015| 0.012[~ 0.017
BRI BiET BEhmEARE —fRIRE 4 0.015| 0.011|~ 0.021
BER Bt FEMREU A — — RIS 4 0.038] 0.022[~ 0.073
BRI BiEh BETREE 22— —HRIBE 4 0.022| 0.017[~ 0. 031
BER Bt BRI E = PR — RIS 4 0.024| 0.016[~ 0. 031
Edial) Bimm g —RRIRER 4 0.012| 0.0068|~ 0.018
BER EtEm EtrEmE&R — RIS 4 0.036| 0.024[~ 0. 053
BER =t —BAER REERtUE— —HRIBE 4 0.049[ 0.014[~ 0. 091
BER =t —RAER ELXmuAFL EEVE— |—REBE 4 0.041| 0.025(~ 0. 059
BER EAH BHHERT —HRIRtE 4 0.011| 0.0084[~ 0.015
BER Bz 5™ ENR 35 T P —HRIREE 4 0.017| 0.010|~ 0.028
BER THAT THHG&R —HRIRtE 4 0.0087| 0.0059|~ 0.011
BER REHH BHEHEXtE 52— — RIS 4 0.017| 0.011[~ 0.025
Edial) HAFET HATET R —RRIRER 4 0.013| 0.0099(~ 0.022
B fEEM eEEIKISR — RIS 4 0.030[ 0.020[~ 0.038
BHME ZHEH SEILRBRRR —HRIBE 4 0.038] 0.022[~ 0. 064
EHE ZHEM EXEHE —HRIREE 4 0.024| 0.014|~ 0. 032 | ER0EEBBEHRE
BHME 2i5th KIGH —HRIRtE 4 0.062| 0.016[~ 0.13
EHE Z25Hh ZIB —HRIREE 4 0.024] 0.017|~ 0.029
BHME & T EEHARYEMRE Y2 — —HRIBE 4 0.044| 0.020[~ 0. 065
B T FAEHRaREE 54— —RIRtE 4 0.025| 0.014[~ 0.038
ZHIE EBHT & B HTI)/FER —RRIRER 4 0.036] 0.015|~ 0.059
BHE 2l 2 )& — RIS 4 0.023] 0.015|~ 0.026
BHME ZBh BT mET —HRIBE 4 0.039] 0.025(~ 0. 052
B WA M| 2T BT — RIS 4 0.062| 0.023[~ 0.13
BHME £@|h LAMEBASAER —HRIBE 4 0.028] 0.010[~ 0.044
EHE ZHH & A Bk S FT —HRIREE 4 0.026] 0.012|~ 0. 050
BHE T RFERER —HRIBE 4 0.031] 0.014|~ 0. 054
BHIE wmEH BER—LARS —RIRtE 4 0.045| 0.018[~ 0.083
BHE MR INEE R —HRIRLE 4 0.032| 0.017|~ 0. 046
EHE EitaA BHMEFBEEILFNIRERERHRE —HRIREE 4 0.029] 0.016|~ 0.036
BHME EMEEME  [REEER —HRIBE 4 0.039] 0.025(~ 0. 056
EHE BEEREN |REFMRZE —HRIREE 4 0.053| 0.025|~ 0.073
=ER b=437] EMIALSE/NER —RRIRER 4 0.015| 0.011|~ 0.017
=E5 A F;EEK —RIRtE 4 0.018| 0.014[~ 0.024
=ER mAEfH =IRINER —RRIRER 4 0.076] 0.053|~ 0.11
=E5 E&H REEEER —RIRtE 4 0.073| 0.017[~ 0.23
=ER thEET HEEEFR —HRIBE 4 0.034| 0.0080|~ 0. 085
=EE il ZIRTIL A IR/DNER —RRIRIE 4 0.016] 0.0074|~ 0.025
=ER EEW EEMITEZ EINER —RRIRER 4 0.015| 0.0065|~ 0.026
=E5 BRH ERERER —RIRtE 4 0.011| 0.0061[~ 0.015
HEE KEh Kt BAGZEHRA —HRIBE 2 0.017[ 0.013[~ 0. 020
HER Kz B/ AR Y Ti5R —RIRtE 2 0.012| 0.011[~ 0.012
HER KiEM #HEBRBEHXERRA —fRIRER 2 0.017] 0.012|~ 0.022
HER EEH EEREESRA —RIRtE 2 0.025| 0.025(~ 0.025
HER HEH EEEERIMRAREN —fRIRE 2 0.014| 0.0097|~ 0.018
HBER =T BEREHEHAA —HRIREE 2 0.0087 0.0083|~ 0.0090
HEE BRI B3 /\BHEERA —HRIRE 2 0.027| 0.021[~ 0.032
BT RERTH ERRER — RIS 4 0.016] 0.0072|~ 0.024
FUERKT &R miRmEL —HRIBE 4 0.020] 0.012|~ 0.033
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HERFRA FRTEL BT =2 i 5 ﬁ FE | EEEE (pg-TEQ/m’) i =
8| (pe-TEQ/m) | B/ BX
REBAT mERT IEHR AT —HRIREE 4 0.027| 0.0092|~ 0. 050
SLERKT REbTH EFEBREE LS — —RIRE 4 0.032| 0.0088[~ 0.053
BT RERTH ERE#R — RIS 4 0.022| 0.012[~ 0.032
SLERKT REbTH RKER —hRIBE 4 0.037| 0.019[~ 0. 060
BT RERTH PRI AT — RIS 4 0.012| 0.0065[~ 0. 021
SLERKT REbTH BB —hRIBE 4 0.045| 0.012[~ 0.071
BT RERTH FEHNER — RIS 4 0.010| 0.0055[~ 0.016
SLERKT REbTH TER (EHHAHELAETHER —hRIEE 4 0.020[ 0.011[~ 0.031| FR20EEBELRE
REBAT Bl BERILBAIER —HRIREE 4 0.011] 0.0083|~ 0.015
SLERKT SBhH REEIER —hRIEE 4 0.011| 0.0068[~ 0.014
BT FAH FRAER — RIS 4 0.024| 0.014[~ 0.032
SLERKT BRAN BEAER —hRIBE 4 0.016] 0.011[~ 0.023
REBAT A ERAELET | AEILBIED —HRIREE 4 0.058| 0.024|~ 0.12
SLERKT AR ER  |RENER —hRIEE 4 0.028] 0.019[~ 0. 041
KB AT KB B/ ER —HRIREE 4 0.040| 0.021|~ 0.052
KIRAF KBRTH BB TR —RIRE 4 0.078| 0.041[~ 0.10
KB AT KB TRE/INER —HRIREE 4 0.068| 0.039|~ 0.086
KIRAF KBRTH R —RIRE 4 0.13| 0.048|~ 0.21
KB AT KB ZKEAIL/NER —HRIREE 4 0.044| 0.031|~ 0. 056
KIRAF KB FERER —RIRE 4 0.058| 0.043[~ 0.079
KB AT KB Bl R —HRIREE 4 0.074| 0.027|~ 0.10
KIRAF KBRTH EEZN —RIRE 4 0.051| 0.030[~ 0. 083| FR0EEBELRE
KB AT il LPHER —HRIREE 4 0.060] 0.029|~ 0.098
KERFF ot EWRER —RIRE 4 0.043[ 0.025(~ 0. 086
KB AT il EAii)o] —HRIREE 4 0.066/ 0.031|~ 0.10
KERFF ot ESLT) —hRIBE 4 0.068| 0.030[~ 0.13
KB AT Zohh FRB —HRIREE 4 0.049| 0.033|~ 0.058
KIRAF AT tEATIEERER —RIRE 4 0.029[ 0.017[~ 0.038
KB AT wHE™ wHTIIER —HRIREE 4 0.038] 0.023|~ 0. 065
KIRAF WA T WwHHEKE —RIRE 4 0.036| 0.016[~ 0. 056
KB AT wHE™ wHETALERE R —HRIREE 4 0.024| 0.011|~ 0.039
KERAF RAETH RKEMHRA —fRIRE 4 0.082| 0.050(~ 0.13
KR FF =#H EHER — RIS 4 0.037| 0.027|~ 0. 056
KERFF =Hih =EHILE —fRIRE 4 0.022| 0.014[~ 0. 037
KR FF =#H RSN REE — RIS 4 0.042| 0.024[~ 0.070
KR AT Y EABARE —HRIRtE 4 0.045| 0.038|~ 0. 059
KR FF =#H =BINARE — RIS 4 0.042| 0.020[~ 0. 081
KIRAF BiEth RIETEHER —fRIRE 4 0.049[ 0.023[~ 0.063
KR FF SO SFORBRRR — RIS 4 0.045| 0.027[~ 0. 057
KERFF wAH EmUNE ] —RIRE 4 0.035| 0.015~ 0.053
KB AT WA WMATERB —HRIREE 4 0.056| 0.042|~ 0.068
KBRAF FA™ RATEFE —RRIRER 4 0.040| 0.023|~ 0. 061
KR FF INEL BN — RIS 4 0.063| 0.030[~ 0. 096
KIRAF I\EH I\NEBRIEFRH —fRIRE 4 0.055| 0.025(~ 0.078
KB AT =l EBRMTERFAE —HRIREE 4 0.049| 0.027|~ 0.066
KIRAF BEJIH ERIIHEME —fRIRE 4 0.048| 0.034[~ 0. 060
KB AT INEY NG d —HRIREE 4 0.076] 0.051|~ 0.11
KBRAF KEM KEM&E —RRIRER 4 0.039] 0.021|~ 0.068
KR FF FMRH By BINERB — RIS 4 0.038| 0.026[~ 0. 059
KIRAF HaRm FIEEERD —fRIRE 4 0.060[ 0.029[~ 0.098
KR FF =RH BETERR — RIS 4 0.062| 0.048[~ 0.085
KBRAF BHFH BAFHEMRD —RRIRER 4 0.056] 0.029|~ 0.093
KR FF EPNITT BEfGEREEV S — — RIS 4 0.045| 0.015[~ 0.072
KIRAF PN JERTFF& —fRIRE 4 0.034| 0.014[~ 0. 058
KB AT RE™ REHEAB —HRIREE 4 0.047| 0.028|~ 0.073
KIRAF o R h B () SINR—AME A — —fRIRE 4 0.039| 0.026[~ 0. 059| FR20EEBELRE
KR FF ZEHMERE |BEXRERISH — RIS 4 0.042| 0.022[~ 0.073
KIRAF SREEBURET IRET %155 —hRIBE 4 0.038] 0.021[~ 0. 058
EER #wEm LEXKEHRD —HRIREE 4 0.021 0.018|~ 0. 024| ER0EEBBEHRE
EER BEER T I\RBIER —RIRE 4 0.032| 0.019[~ 0.063
EER Bl B I/ AR R —RIRtE 2 0.048|  0.045[~ 0. 050
EER BlEth BET IR EER —fRIRE 2 0.036| 0.033[~ 0.039
EER BAaT™ AARFEE 2 — —RIRtE 2 0.020[ 0.012[~ 0.028
EER AT EN&KkiS —HRIBE 2 0.025 0.014|~ 0.035
EER mEm PaE T —HRIREE 4 0.013| 0.0079|~ 0.017
EER wmEm WA /NERR —RRIRER 4 0.0099( 0.0070|~ 0.014
EER NAT EERNARETE —HRIREE 4 0.026/ 0.016|~ 0. 040
EER EEm IWFINFERR —RRIRER 4 0.013| 0.0089|~ 0.017
EER Eiraniil RETEEE —HRIREE 4 0.013| 0.0073|~ 0.019
EER 2R EERSEKRETE —RRIREE 4 0.0097[ 0.0072|~ 0.012
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HRIRiE
HRERFR A R AT AR Hhish 5 45 ﬁ THE | R (pe-TEY/nd) " =
| (pe-TEQ/m®) | B/ BA

EEE  [mallm TER —BBEE | 4 0.024] 0.012[~ | 0.041
EER meE | EHE —RRIRER 4 0.020 0.012|~ 0.034
EES  |EEmm TR EE L EH —fgEEs | 4 0.013| 0.0095|~ | 0.016
EER =t SWHERAER —RRIRER 4 0.022 0.013|~ 0.028
EER =ZHW ZHTE&RFAAER —HRIREE 4 0.017 0.012|~ 0.030
EEE  |fEm EEEHMERAETEAER —mEE | 4 0.0096| 0.0074|]~ | 0.011
EEE  |REmW WBHER —fgEEs | 4 0.019| o0.016|~ | 0.022
EER |=elo)iil = 2ODHERAIER —RRIRER 4 0.024 0.015|~ 0.034
=BpE  |=BmW FHASFLATE —fgEEs | 4 0.025| 0.021|]~ | 0.034
=RE  |ZRH® ERMELERESR —mEE | 4 0.024| 0.018|~ | 0.031
=RE  |kXMEETW BHAB (KFISATHEEFR) —fgEis | 2 0.061| 0.047|~ | 0.075
ZRE | KBS KAER L BRI R 2 REE —fgEE | 2 0.036| 0.030|~ | 0.041
=RpE  |XEm XKEB (FEMILFHEm/NERRK) —fpEis | 2 0.026| 0.020|~ | 0.031
=RE  |#HEE BHE (SRERFRAETER) —mEE | 2 0.035| 0.020|~ | 0.050
=RE  |4Em £ER (EELERAEN) —fpEis | 2 0.021] 0.017|~ | 0.025
ZRE LTEHAMEFE |EFE (EFHLTERN) —RRIRER 2 0.031 0.021|~ 0. 041
FILE | FOFh A a=TaEVA— —HRIREE 4 0.023 0.012|~ 0.033
ML | AL RAEHE T —mEE | 4 0.018) 0.013|~ | 0.023
MILE APl EHSERET —fgEEs | 4 0.028| 0.019|~ | 0.040
ML | AL REXF —mEE | 4 0.020| 0.0080|~ | 0.031
MILE  |sErEm TR —fgEEs | 4 0.022| 0.013|~ | 0.043
MILE |EEE BARHBRHR —mEE | 4 0.065 0.052[~ 0.10
MILE  |ELATH MRLBBERENR L 2 —HHBERARR |—RIRE 4 0.019 0.014|~ 0.023
FMTLE B3 BRmHKEEERMR —RRIRER 4 0.026] 0.0074|~ 0.047
MILE |FHEm HEEMAFE —fgEEs | 4 0.086] 0.055/~ 0.16
MILE |EHH BEREFE —feEE | 4 0.037] 0.017|~ | o0.072
MILE |EHEEERIET [FEHINEEEXLREE S — —HRIREE 4 0.010| 0.0066|~ 0.013
EmWE B EHRERT —iRIRLE 4 0.012| 0.0091|~ 0.016
EmE  |kFm KT —fgEEs | 4 0.012| 0.0097|~ | 0.016
BEmE |aEm AEREF —mEE | 4 0.0095| 0.0078|]~ | 0.014
EmE  |msEm TR —fgEEs | 4 0.016| 0.013|~ | 0.020
SRR WiIm WITRERT —RRIRER 4 0.011] 0.0074|~ 0.019
ERE  [EmW ERSF—RESASIER —fgEEs | 4 0.010| 0.0074|~ | 0.014
BiEE |mEHm HEREF—REBEASIER —mEE | 4 0.021| 0.0072|~ | 0.029
ERE  |#mWm HESF—RESASIER —fgEEs | 4 0.011| 0.0087|~ | 0.013
SRR KAT KE—BEBEEXRKAER —RRIRER 4 0.010] 0.0062|~ 0.020
BRE  |=xm RE—BEBEATANER —fgEEs | 4 0.011| 0.0075|~ | 0.019
SRR JLES LETRA—REEXSAERS —iRIRE 4 0.0078| 0.0062(~ 0.011
BRE TR BR ARk 0> B BT | () 5% M Ik B 1 PR B RE T —fRIRIE 4 0.0071| 0.0065(~ 0. 0085 | FR20EEIBBELAE
BAUE  |[@Ewum RN 2R —feEE | 4 0.051| 0.028|~ | 0.062
BWLE  |@wum BRI AR —fgEEs | 4 0.020| 0.021|~ | 0.047
G- R\l AT AR —mEE | 4 0.035| 0.016|~ | 0.082
BLE  |amm BNASFLATE —fgEEs | 4 0.039| 0.029|~ | 0.047
] LR B¥m BHENR (BREHEZ) —HRIREE 4 0.049 0.017|~ 0. 12| FREEREEAE
M- T £EBRB —fgEEs | 4 0.022| 0.0076|~ | 0.037
LER /=T FONMNERAER —RRIRER 4 0.025 0.017|~ 0.037
EEE |hEW ERThER —fgEEs | 4 0.040| 0.010|~ | 0.096
LER /=T RIEERRAAERD —RRIRER 4 0.049 0.031|~ 0.059
EEE |hEW AENERAER —fgEEs | 4 0.065| 0.029|~ | 0.007
LER /=T RERRAKR—YEIE— —RRIRER 4 0.24 0.13|~ 0.29
LER LEM RETIM =F/NER —fRIREE 4 0.073 0.027|~ 0. 1| FRFEERELAAE
LER am H|ILRIE D —iRIRLE 2 0.037 0.032|~ 0.042
EEE  |&w BT —fgEis | 2 0.028| 0.019|~ | 0.037
LEBE  |&am RN ER —fgEE | 2 0.070| 0.046|~ | 0.093
LB |mMEm RS —fgEis | 2 0.016| 0.0082|~ | 0.024
LEE |=ZE® ZREAAR —fgEE | 2 0.043] 0.018|~ | 0.068
LEE |REm EEES®R —fgEis | 2 0.055| 0.036|~ | 0.073
LBE  |#um HINERE —mEE | 4 0.051| 0.045|~ | 0.058
EBEE  |@Ewm RRENEHRB —fgEEs | 4 0.031| 0.019|~ | 0.053
=T =10 EEPERD —mEE | 4 0.035| 0.025|~ | 0.048
EBEE  |@Ewm BIEXFR —fgEEs | 4 0.032| 0.014|~ | 0.058
=T =10 DR —mEE | 4 0.036| 0.020|~ | 0.059
EBEE  |@Ewm WK NERB —fgEEs | 4 0.067] 0.04[~ 0.11
LER iSilaaliil FemHEr 42— —RRIRER 2 0.024 0.021|~ 0.027
LER =xt ZRMEHME 22— —HRIREE 2 0.031] 0.0066|~ 0.055
=L P (i K R E —fgEE | 2 0.016| 0.015|~ | 0.016
LEE |EmEkEm HLEEER/INER —fgEis | 2 0.028| 0.015|~ | 0.040
LBE  |HB®h HEHEAE —fgEE | 2 0.030| 0.028|~ | 0.032
GBS  |REHEMAT  |EEER —fgEis | 2 0.20] 0.090[~ 0.31
Lage TE® TETERERER —RRIREE 2 0.016 0.010|~ 0.022
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—gIRiE
HERFRA FRTEL BT =2 i 5 ﬁ FE | EEEE (pg-TEQ/m’) & &
8| (pe-TEQ/m) | B/ BX
IT=]=! TEH TETELEEREL S — —iRIBtE 2 0.011] 0.0064]~ 0.015
=] FER FHHRSNBLEL 2 — —HRIBE 4 0.022| 0.015(~ 0.026
=] WA BEREFEEV2—B — RIS 4 0.014] 0.012|~ 0.016
=] Fhh HESSE —RIRE 2 0.016/ 0.011|~ 0. 020
=] bilisiil &R — RIS 2 0.016] 0.015|~ 0.016
=] EEH HEHR/NERE —HRIBE 2 0.021] 0.014[~ 0. 027
=] L MAREELEZ— — RIS 2 0.036] 0.020|~ 0. 051
wWog ErEh AmEhEFRE —HRIBE 4 0.018] 0.014[~ 0. 021
EER 3=t EER —HRIREE 4 0.017] 0.011|~ 0.027
wER W KBER —RIRE 4 0.14| 0.033[~ 0.35
EER Ed01 BT B —HRIREE 4 0.015| 0.014|~ 0.016
wER = =IFRIERT —HRIBE 4 0.012| 0.011[~ 0.013
EER EERER AR AT | R IATRIG —HRIREE 4 0.0088[ 0.0069|~ 0.011
FINR =1 BRHAKIZIa=-_TsEVE— —HRIBE 4 0.057| 0.040[~ 0. 087
FIIR Eak--Ni) ABHEFE —HRIREE 4 0.031 0.019|~ 0.049
FIIR R R TR —RRIRER 4 0.027] 0.018|~ 0.042
FINR BESH BESHRAB — RIS 4 0.032| 0.014|~ 0.051
FINE THEM ShERHER —HRIBE 4 0.017[ 0.012[~ 0.026
FINR FIBESH |EESHREH — RIS 4 0.019] 0.010|~ 0.023
FINE HEEBEADSE |F)I|REERBRISH RS —HRIBE 4 0.013| 0.0082|~ 0. 020
BRE NI EARBEAKBIER —HRIREE 2 0.050| 0.032|~ 0.068
ZRE Wil WILHrE —RRIRER 2 0.025| 0.024|~ 0.025
BRE NI MSAER —HRIREE 2 0.032| 0.020|~ 0.043
BREE AN HENMNERAER —BIRE 1 0.080[ 0.080[~ 0. 080
BRI NG REERER —fRIRtE 1 0.078] 0.078|~ 0.078
ZRE Wil FEELAE —RRIRER 2 0.082| 0.044|~ 0.12
BRI FHEH BABEEEZAR—LLEE —fRIRtE 2 0.026] 0.023|~ 0.028
ZRE J\IEET TILIE NFERR —RRIRER 2 0.013| 0.0090(~ 0.016
BRE FEETR EEAREE —HRIREE 2 0.031 0.027|~ 0.035
BREE wmEh ENEEREL 54— —HRIBE 2 0.037| 0.021[~ 0.053
BRI 7o [E] R Pu [ R R AT —fRIRtE 2 0.027| 0.026|~ 0.028
EHE =0T KEHIIKRY TH —HRIBE 1 0.020[ 0.020|~ 0. 020
SR =T MARY TH —fRIRtE 1 0.015| 0.015|~ 0.015
EHE =3l BIHRY Ti5 —HRIBE 1 0.025( 0.025|~ 0. 025
SR =T ZHEAKRY TH —fRIRtE 1 0.022| 0.022|~ 0.022
BHE =0T Ee e ST —HRIBE 2 0.027| 0.013[~ 0. 040
SR =T RERKRY 15 —fRIRtE 1 0.14 0. 14|~ 0.14
SR REH REEUFRAT —HRIBE 2 0.012| 0.0074[~ 0.016
Syl AlgT EIBtRL R EERT —HRIREE 1 0.014] 0.014|~ 0.014
BHE M5+ 18 2B R IEFT —BIRE 1 0.011] 0.011[~ 0.011
B ENBLOE  ([RHARFES —fRIRtE 2 0.010| 0.0079|~ 0.013
BEE E# R Ll TREBAS —HRIBE 4 0.019[ 0.010[~ 0. 031
EER Je A EIEEZ#RL — RIS 4 0.019] 0.017[~ 0.021|Er0EEBE4RE
BEE fErE ™ EHR —fRIRE 2 0.014| 0.0063|~ 0.022
=EER farEH HEE —HRIREE 2 0.018] 0.016|~ 0.020
a8 fakEh HEmE —RRIRER 2 0.016] 0.015|~ 0.017
=EER farEH 1G] —HRIREE 2 0.012| 0.0089|~ 0.015
BEE fErE ™ TER —fRIRE 2 0.0079| 0.0038|~ 0.012
=EER farEH RERB —HRIREE 2 0.010| 0.0060|~ 0.014
BEE ABXkh ABKHEREEE —RIRE 4 0.099] 0.016|~ 0.29
EER BEAH BEAHEEL —RIRtE 1 0.045|  0.045|~ 0.045
BEE Al BB —HRIRLE 4 0.029] 0.024[~ 0.038
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